I g o AAKE | 2 A X & CIEE - 2
A A CIEE - EIEE- T
& Al M

ANEHEZ2H2H-TH0IZE (H1400xW2000, =Xl)

202448 2 o«
AT AAE
1577-8549

(02)3436-6450

1%




= CH =
NEHC2H2-THOI ZE (H1400xW2000, 2Xl)
T 2 i Le Z g
z= e a2t | o9
g I} = 2 o = o o o = o
1. IRHE 2201 IS (H1400xW2000, EX)EXIZA 22 (D)
e SELEY M16X190 4 M 2,500 10,000 2,500 10,000
N E(AHBEE) | 0101.6X2tX1320 1| = 75,000 75,000 75,000 75,000 |2soecareHes
NIESET ©101.68 1o 9,600 9,600 9.600 9,600 |Eg0iEESrEHES
= ®76.3x2050x2t 1| = 45,000 45,000 45,000 45,000 |2s0eicarENE
SES ©50.8x2050x2t 3| oM 26,000 78,000 26,000 78,000 |280iecareuEs
HoUUAAZE  |MBxT10(AE) 1o 1,500 1,500 1,500 1,500
SZOIAB/UUE  |M8x110(AH) 3| oM 1,200 3,600 1,200 3,600
BEAAI 50X320 1| o= 3,300 3,300 3,300 3,300
A7 (HBHI) 226,000 - - 226,000

S| sz 0.014 | ¢ 3,060 212,500 B.060 |2 e e o e CroI s 0%

: sgos 0.108 | ¢! 23,686 219,321 23,686 | e e ol st a0

: CERIE] 0.216 | ¢! 36,089 167,081 36,089 | e aa ol et s
aocy ®1 inch 0.040 | hr 17 437 17 | DE SR B sAER) P.76, JIEAH.
3SH30IHIE ®1 inch 0.010 | I 41,600 416 41,600 ap |N2b aEB IS ERAlmasER) P
EIxp) 25kw 0.400 | hr 9,122 3.648 13,921 1,294 47,162 18,863 | 2o s A o g oLy 2
gmee 2 5ton 0.400 | hr 6,846 2,738 19,496 2,467 61,756 24,701 | T2 e 118
S oIz ol 3% 1 A 1,885 1,885 1,885 1,885 |20241 2&DAEEEM(HE2ALES) P.746

27 (& X/HI) 8,687 96,252 3,778 108,717
bl 234,687 96,252 3,778 334,717
* 'm"e ©O} 334,717 |/ 2m = 167,359




= < CH Jt =
M2l L 24l B g A
25 A *g | &9 i
=l = % = = % = = % (=l = %
2. IV HE2H2-II0|ZE HHE (H14002ME)EXSA "HA'S (RER)
A OI1Z W H M16X190 21 M 2,500 5,000 2,500 5,000
®101.6X2tX1320 0.5| = 75,000 37,500 75,000 37,500 |E80HES+ENEH
A= ®101.68 0.5 M 9,600 4,800 9,600 4,800 [ES0AES+EMEE
ol & HEYLE 1 OH 18,000 18,000 18,000 18,000 |E80IHES+EMEE
HEYHBEE M8x110(AEl) 0.5 & 1,500 750 1,500 750
EFHEB/UUHE M8x110(AEl) 1.5 JH 1,200 1,800 1,200 1,800
BEALXI 50X320 0.5 & 3,300 1,650 3,300 1,650
2 (KISH]) 69,500 - - 69,500
=Pl AE 0.01 el 212,500 1,530 212,500 1,630 |EET2C50% HE
=Pl Ego8 0.05| ¢ 219,321 11,843 219,321 11,843 |EET20 50% XHE
2018 0.11 el 167,081 18,044 167,081 18,044 |BET22 50% Mg
IHEE ®1 inch 0.02 | hr 437 8 437 8 |HETOI50% XHE
3HIAHUIE ®1 inch 0.01 I 65,000 325 65,000 325 |HEEF2S 50% HE
Egapll 2.5ton 0.20 | hr 9,122 1,824 34,803 6,960 3,237 647 47,162 9,431 |BEEF21250% X8
HOEH 2.5ton 0.20 | hr 6,846 1,369 48,741 9,748 6,169 1,233 61,756 12,350 |BEE722 50% XHg
M=l QIAZ2 3% 1 4l 942 942 942 942 (20248 ALSANEEZZM(UEALES]) P.746
2 (& XIH]) 4,460 48,125 1,888 54,473
Al 73,960 48,125 1,888 123,973




2l T 2 4l a3l & Al
2z 72 +2 | @9 Sl
e Ot 2 o =l 2 o e Ot 2 o e Ot 2 o

*HNSE : IHSE-'AIVY
JFo=E 6" 1 hr 438 437 438 437 g(\)iﬁaif:;fgggggﬁ%ié?ﬁ&?émmm

Al 437 437
* RI2SH : YHEI|(25kw)-'Al2H'E
i 25kw 1) hr 3,237 3,237 3,237 3,287 |3 bl 5 & 5 8370500 2a6240.0000001
357 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 H2HoH P.1451
gz FAHZO 24% 0.24| 4l 7,357 1,765 7,357 1,765
B HSE AL 11 ¢ 34,803 34,803 34,803 34,803 |H4sE

Al 9,122 34,803 3,237 47,162
* N3SH : EZE=(2.5ton)-'Al2t'Y
a7 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 [2024.09 H2HIt2 P.1451
gz FAHZO 38% 0.38| &l 4,961 1,885 4,961 1,885
S X2 AL 1] ¢ 48,741 48,741 48,741 48,741 |H58H

A 6,846 48,741 6,169 61,756
* M4SHE : ABDIHSEA-AlIRNE
LE|H2E A 0.208 | ¢l 167,059 34,803 167,059 34,803 |1L01F AlI2bx A O I 4x 5 K| H 2=(1/8)x(16/12)x(25/2)
* HI5SHE : SISXUSEA-'AIZHE
SSI2E A 0.208 | ¢l 233,960 48,741 233,960 48,741 |1LIIEAZXA O 2x 5 X H 4=(1/8)x(16/12)x(25/2
* DL
sEgog 2024.9.101& 1]« - 219,321 219,321 219,321 219,321
2308 2024.9.101& 1] & - 167,081 167,081 167,081 167,081
223 2024.9.101& 1]« - 247,269 247,269 247,269 247,269
E=gel g 2024.9.101& 1] & - 212,500 212,500 212,500 212,500
LB H2E AL 2024.9.101& 1]« - 167,059 167,059 167,059 167,059
SIS X2 A 2024.9.101& 1] & - 233,960 233,960 233,960 233,960




a4 & g ¢ SEUNIDN; o A Xt a A = 2 ¢ 2 T
Al A} = % ol E] % o]
o Al A

ANEHEZH2H-TH0IZ & (H1400xW2000, AEl)

2 At 20244 2 ¢
M LA
TEL: 1577-8549
FAX: (02)3436-6450




HEAHCZH20-THOIZE (H1400xW2000, AH)
T 2 I = 2l = g
o 72 2| o9 Sl
e ot 2 o & ot 2 o e I} 2 o e o} 2 o
1. HEAS2L2-TH0I T H (H1400xW2000, AH)&XIBAH "F2H'S (DSE)
012U M16X190 4] N 2,500 | 10,000 2,500 10,000
T F(UIABEE) |B101.6X2tX1320 1| = | 207000 | 207,000 207,000 | 207,000 |Adieiix
ESD ©101.68 1 oH 9,600 9,600 9,600 9,600 |EB0IESrEUES
#He ©76.3x2050x2t 1| = | 125000 | 125,000 125,000 | 125,000 |~
2z ©50.8x2050x2t 3 M 82,000 | 246,000 82,000 | 246,000 |AdioiE~
BCYAAHEE | MBxT10(AH) 1 of 1,500 1,500 1,500 1,500
YZAHB/BUE | M8x110(AE) 3 M 1,200 3,600 1,200 3,600
BEALK] 50X320 1= 3,300 3,300 3,300 3,300
A2 (R BH) 606,000 - - 606,000

ERE aters 0.014 | ol 212,500 3,060 212,500 3,080 | e e T B s o

" szo= 0.108 | o 219,321 23,686 219,321 23,686 | oo mom e ) T e o

: EERE 0.216 | ol 167,081 36,089 167,081 36.089 | e = oo
20icd ®1 inch 0.040 | Hr 437 17 437 17 [ S SR a A ST A PTas, =N,
3 IONHIE 1 inch 0.010 | M 41,600 416 41,600 a6 (Wb DERERAEAETA P
2 ®O| 25kw 0.400 | hr 9,122 3648 | 34,803 13,921 3,237 1,204 | 47,162 18,863 | i o sre s o ma ol g e
gmes 2.5ton 0.400 | hr 6,846 2,738 48,741 19,496 6.169 2,467 61,756 24,701 | e e T =S
ST =H AHZF2| 3% oA 1,885 1,885 1,885 1,885 |20245 ALHESH(ALATA P.746

A (& RIHI) 8,687 96,252 3,778 108,717
H 614,687 96,252 3,778 714,717
*'m'@ Bt 714,717 |/ 2m = 357,359




& o3 CH ot =
M =2 L 24 Z 4l g Al
o 72 2| o9 Sl
o O 2 o &t 2 o e Ot 2 o e Ot 2 o
2. I HEZ2L2-TH0IZE HH2 (H14002 M )& X SAH "IHA"S (WER)
HOIZ HH M16X190 21 M 2,500 5,000 2,500 5,000
®101.6X2tX1320 0.5| = 207,000 103,500 207,000 103,500 |AHIlaA
=Y ®101.68 0.5| M 9,600 4,800 9,600 4,800 [BS0IAES+EMEH
gl & & e 1 O 18,000 18,000 18,000 18,000 |2&Iore
HEHLABESE M8x110(A ) 0.5| & 1,500 750 1,500 750
EFHEB/YUE M8x110(A ) 1.5 M 1,200 1,800 1,200 1,800
BEALK 50X320 0.5| & 3,300 1,650 3,300 1,650
AARIZHI) 135,500 - - 135,500
A Xl =3 0.01 ol 212,500 1,530 212,500 1,630 |EE72 50% =&
A Xl Egos 0.05 | ¢l 219,321 11,843 219,321 11,843 |EEF22 50% ¥&
2oL 0.1 ol 167,081 18,044 167,081 18,044 |EE=72t2 50% ¥&
IHEE ®1 inch 0.02 | hr 437 8 437 8 |EET2LY50% HE
3HIDUHIE ®1 inch 0.01 H 65,000 325 65,000 325 |EET2A50% HE
Eapl 2.5ton 0.20 | hr 9,122 1,824 34,803 6,960 3,237 647 47,162 9,431 |EET2 50% HE
HOE™ 2.5ton 0.20 | hr 6,846 1,369 48,741 9,748 6,169 1,233 61,756 12,350 |HEEF22 50% ¥&
M=l el Z ol 3% 1 4l 942 942 942 942 (2024 ALEEZ M (AL TAL) P.746
2A(EXIHI) 4,460 48,125 1,888 54,473
Al 139,960 48,125 1,888 189,973




2l T 2 4l a3l & Al
2z 72 +2 | @9 Sl
e Ot 2 o =l 2 o e Ot 2 o e Ot 2 o

*HNSE : IHSE-'AIVY
JFo=E 6" 1 hr 438 437 438 437 g(\)iﬁaif:;fgggggﬁ%ié?ﬁ&?émmm

Al 437 437
* RI2SH : YHEI|(25kw)-'Al2H'E
i 25kw 1) hr 3,237 3,237 3,237 3,287 |3 bl 5 & 5 8370500 2a6240.0000001
357 0.001W% S 4.3 | 1,711 7,357 1,711 7,357 |2024.09 H2HoH P.1451
gz FAHZO 24% 0.24| 4l 7,357 1,765 7,357 1,765
B HSE AL 11 ¢ 34,803 34,803 34,803 34,803 |H4sE

Al 9,122 34,803 3,237 47,162
* N3SH : EZE=(2.5ton)-'Al2t'Y
a7 0.001W% S 2.9 | 1,711 4,961 1,711 4,961 [2024.09 H2HIt2 P.1451
gz FAHZO 38% 0.38| &l 4,961 1,885 4,961 1,885
S X2 AL 1] ¢ 48,741 48,741 48,741 48,741 |H58H

A 6,846 48,741 6,169 61,756
* M4SHE : ABDIHSEA-AlIRNE
LE|H2E A 0.208 | ¢l 167,059 34,803 167,059 34,803 |1L01F AlI2bx A O I 4x 5 K| H 2=(1/8)x(16/12)x(25/2)
* HI5SHE : SISXUSEA-'AIZHE
SSI2E A 0.208 | ¢l 233,960 48,741 233,960 48,741 |1LIIEAZXA O 2x 5 X H 4=(1/8)x(16/12)x(25/2
* DL
sEgog 2024.9.101& 1]« - 219,321 219,321 219,321 219,321
2308 2024.9.101& 1] & - 167,081 167,081 167,081 167,081
223 2024.9.101& 1]« - 247,269 247,269 247,269 247,269
E=gel g 2024.9.101& 1] & - 212,500 212,500 212,500 212,500
LB H2E AL 2024.9.101& 1]« - 167,059 167,059 167,059 167,059
SIS X2 A 2024.9.101& 1] & - 233,960 233,960 233,960 233,960




